Simplifier les expressions suivantes :

Sinx cosx tanx

tan x
cot anx

Sinx secx cotanx
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sec? X
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cosecx
tan x

sin? x(1-sin® x) tan® x(cosec®x — 1) sec® x cosecx
sec’x(cosx — 1)

(1- cos® X)(1+ tan® x)(1— cosec?x)



Solutionnaire

Simplifier les expressions suivantes :

1. Sinx cosx tanx

. . sinx )
Sinx cosx tanx = SN XCOSX = sin“x
COS X
tan x
2. ———
cot anx
sinx
tan x sin? x
— COSX _ . =tan? x
cotanx COSX cos® X
sin x
3. Sinx secx cotanx
. . 1 cosx
Sinx secx cotanx = SINX — =1
COS X Sin X
tan? x
4. 1- 5
SECc” X
sin? x
tan2 COS X ) 2
1- =1- =1 - sin“X = cos“X
sec? x 1
cos? x
sin? x
5. COSecx
tan x
sin? x sn’x 1 . 1
COSECX = —; X — = SIN XCOSX—— = COSX
tan x INX gnx sin X
COS X

6. sin® x(1-sin®x)tan® x(cosec’x —1) sec” X CoSecx

. . . sin
sin? x(1-sin? x) tan® x(cosec?®x —1) sec® xCosecx = Sin® xcos’ X X cotan?x - —
cos’® x cos® x sinx

cos’x 1 1
—— =sin?xsin®x
cos® x sinx sin? x cos? x sin x
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sin )&\ —= sin?x—— =sinx
2 x sinx sin x

sin® x cotan X




7. sec®(cos’x — 1)

-sin®x) = - tan*
2 ( )
cos” X

8. (1-cos® x)(L+ tan® x)(1— cosec?x)
(1- cos® X)(1+ tan® X)(1—- cosec?x) = sin® xsec® x(—cot an®x)

1 , cos’X, _

- -1
cos’x = sin®x

sin® xsec? x(—cotan®x) = sin® x

sin?x + cos®x = 1
2 2 —_
sin° X+ cosx-1=0

cos?x - 1 = - sin®

1 + cotan®x = cosecx
2y, — 2
cotan“x = cosecx — 1

-cotan®x = 1- cosec’x




